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1. Choose the correct answer of the following :
1x7=7

oo AR @3 el i efeedl ¢

(i) A cell becomes turgid when placed in

(a) isotonic solution

Contd.



(b) hypertonic solution

(c) hypotonic solution

(d) None of the above

(T @51 e W oA @R | =
(@ R o

(b) STGAR TTS

(c) THEASR TTS

(d) 8259 b8 =W

(i) The water held tightly by the soil

particles around them is known as
(a) field capacity

(b) runaway water

(c) hygroscopic water

(d) capillary water
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R AN @R

(@) CFF FTol
(b) AR AT
(c) SGSIAR] #fieft
(d) R A
(i) Guttation takes place through

(a) stomata

(b) cuticle

(c) hydathode
(d) lenticel
A foeg v =2
(@) 9%

(b) fFEHTA

(c) o

(d) ASIH
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(iv) Krebs cycle takes place in
(a) chloroplast
(b) ribosome
(c) mitochondria
(d) endoplasmic reticulum
(@G 5 FRYH© =W
(a) FIAE
(b) IFE
(c) =G
(d) TR Siferl

(v) The oxygen during photosynthesis

comes from water, was proved by
(a) Kamen and Ruben

(b) Hill
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(c) Warburg
(d) Blackman

HACETRCEATNS AN o AR{Co Teoly =7
e o R

(@) JEF Y[ FI9
(b) &=
(c) =S
(d) EIES

(vi) Abscisic acid causes
(a) faster leaf fall

(b) dormancy of tubers
(c) retardation of growth

(d) All of the above
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il T T
(@) 9 [T AT AR
b) e
) Tfens I =fsmiy
(d) 5[ TR

(vii) Non-protein part of enzyme is known
as

(@) holoenzyme

(b) apoenzyme

(c) coenzyme

(d) All of the above

BB N o SHG (PR 2T
(a) TGS

(b) @A GTEIN

(c) TGIEIZN

(d) €¥TT FICAER
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2. Write short notes on the following: (any
Jour) 2x4=8

wore MAIERR 53 GGRet ot ¢ (Rizemzant bif<r)

(@)
(b)
(c)
(@)
(e)
(f)
(@)
(b)
(c)
@)
(e)
(f)

Plasmolysis
Role of stomata
Chlorophylls
Macronutrients
Vernalization

Respiratory quotient
o5 e i
QESERRCIERY

S|

JRICTE

TR

AN eI

3. Write short notes on the following: (any
three) 5x3=15

weTe AR SeR o 2 (Rizean fof)

(@)
(b)

Glycolysis

Mechanism of stomatal transpiration
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(c) Photoperiodism
(d) Biological nitrogen fixation

(e) Gibberellins

(@) @ART=NR(RR

(b) TER ACIA AN
(c) Wi afsfem

(d) TSRS 2GS FAZIAN
(e) TeRIERW

4. Answer any three of the following
questions : 10x3=30

o] fqrra fofab) 2 Tex 41 ¢

(a) Describe the mechanism of active and
passive absorption of water by roots.
5+5=10

ol vRl (@7t A s [ig e eff@m
9 =4 |

(b) What are essential elements in plant
nutrition ? Explain the role of any three
of them and show how their deficiency
affect the plant growth. 2+6+2=10
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g e sfffe SFln Gherng /52 3=
Riceiza folanr (el it 3zeng ot e
TR FoRE Tfers Ifae v gl (ormw
ST 31 |

(c) What is photosynthesis ? Give an
account on mechanism of CO, fixation
expressing major steps and the end
products in the process. 2+8=10

ACEARACETY 2 CO, AT efeFnR I3
AR W= 2R et TaPTE oG
TR @t G wife @&t

(d) Describe Krebs cycle and explain the
functions of various enzymes taking
part in it. 7+3=10
(@B b I B T @3 AfFre St
71 Rfon Tewmae arf st 34|
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Paper : BOT-HG-3026

( Environmental Biotechnology)

Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

1. Answer the following as directed : 1x7=7

Wﬁﬂwﬁm"tﬁmﬂ«qmﬁmg

(@) Which one of the following is mainly
responsible for ozone layer depletion ?

i) CO;
(i) CFC
(i) CH,
(iv) CO

G B FIE AE WG @Gt ovid 24|
Lakik;

i) CO,
(i) CFC
(i) CH,
(iv) CO
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(b) Peroxyacetyl nitrate is mainly
responsible for .
(Fill in the blank)

T IR AN (AHGBEIZe 71355
wid | (AT 313 999 1)

(c) For which purpose oxidative ponds are
being used ?
& IR AR TR 53R YT = 22

(d) Write the full form of WCED.

WCED 3 379 aiiw favat |

() Who mainly led Narmada Bachao
Andolan ?

Tl T Semes o @ iE «[{ifse

() Which of the following is responsible
for Bhopal Disaster, 3rd December,
1984 ?

>5b-8 59 © fCrEae 24fbe gollet (ag y4bara
IR Fevre @ v e

(i) Methyl isocyanate
2 SZEHREG

(ii) Nuclear explosion

sfiaeRE RewRd
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(i) Mercury

A
(iv) Sulphur dioxide
DGR EAVIECRIEY
(g) Permissible noise level is measured in
the unit of . (Fill in the blank)
SIS *% B R 0 I I GFBC0!
xR | (71 312 279 1)
2. Give very short answers : 2x4=8
IS 53¢ Tex ¢
(a) What is biomagnification ?

(b)

(c)

(d)

o] R@aa i e

Write a short note on acid rain.

oifes 999 9T @b 53 G fovalt |

What is xenobiotic compound ?

AR TET el Ifereet & o e

What is the role of central and state
pollution boards.

@@awame@qﬁﬁwgﬁmﬁs?
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3. Write notes on : (any three) S5x3=15

Gt fovat 3 (Rizrean fofabr)

(a) Salient features of the Forest
Conservation Act, 1980

SRy I BB, sovbo I YA [RENBPEZ

(b) Bioreactors

JRETS®

(c) Anthropogenic effect on global

environmental issues

e it TR (2P TS VR SR
(d) Water pollution

T v
(e) Ramsar Convention, 1971

IR AT, v5ad

4. (a) Describe various processes used for

wastewater treatment. 10
3fere “it “ifReaieeR IR IR T AfFTRR
A [ P2 S )
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Or/924!

Write in detail about the role of NGOs

in conservation of biodiversity. 10
(FHIFIST TR (SR (Abd FTwre B!
AHCH T2 |

(b) Write an essay on biotechnological
approach for management of

environmental issues. 10

AR AR (@9 A PR R s
Ryl M 9 ol 29 Al 364 41 |

Or/9%4}

Where was Gandhamardan and Silent
Valley Movement organised ? Critically
analyse the impacts and outcome of

those movements. 2+8=10
‘“FFAV P TG TACD ST S
Ao C2feet | @3 SHIE Mo el S
e Oifgei@ AT a4 |
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(c) How is economic growth related to
environment ? Explain the possible
measures for better economic growth
without affecting environment.

4+6=10

IR e e Tafe v Aigee ¢ o=

o Foqite G Tafsaiama Tz
(FELINR T AT DA /4 |

Or/<

Describe the major recommendations
made in Rio Earth Summit-UNCED,
1992. What are the similarities between
Stockholm Conference, 1972 and Rio
Earth Sumit-UNCED, 1992.

7+3=10

faer R TR euw o[EetEE & & 9
o1l | U@ AfEwa (0o R, va s AT
@ @ e Ay ol T [¢f 0 |
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